TYXBER T 7TROFABRHFTE (MAS50)

WBl) TyFEERT TROFAEHTE (MA50-1.2mm) W2) TyFBEERT TROFAEHFTE (MA5 0 —1.6mm)
Fv*BEN/); 127.40 F= 235 (N/m) 7y #BEN/m) ; 168.56 F= 235 (N/mif)
A B 2iH 3 A B 2iH 3
m 5 | kb |HEEE| 5H | tbd |HERE| N | bk | HARE m A | kbhdh |HEEE| 5H | tba |HEAEE| N | bk | HAEES

1.1 27,420;  21,250| 21,250 1.1
1.2 23,020i 16,340 16,340| 23,020; 39,550 23,020 1.2 30,1208 21,350| 21,350
1.3 19,590: 12,820| 12,820 19,590 31,080| 19,590| 24,530: 24,330| 24,330 1.3 25,630; 16,760| 16,760
1.4 16,880 10,240 10,240| 16,880 24,860 16,880| 21,130{ 19,450| 19,450 1.4 22,080i 13,380 13,380| 22,080 32,480| 22,080
1.5 14,680 8,300 8,300 14,680: 20,180| 14,680 18,390: 15,790| 15,790 1.5 19,210: 10,850| 10,850 19,210: 26,380| 19,210 24,060: 20,570| 20,570
1.6 12,890 6,820 6,820 12,890 16,610| 12,890 16,150: 12,990| 12,990 1.6 16,860 8,910 8910 16,860: 21,700| 16,860 21,120! 16,910 16,910
1.7 11,400 5,660 5660 11,400; 13,820| 11,400/ 14,290: 10,810/ 10,810 1.7 14,920 7,400 7,400 14,920: 18,060 14,920 18,690: 14,050| 14,050
18 10,160 4,750 4,750/ 10,160: 11,620| 10,160 12,730 9,080 9,080 1.8 13,290 6,200 6,200/ 13,290: 15190/ 13,290/ 16,650: 11,800/ 11,800
1.9 9,100 4,020 4,020 9,100 9,860 9,100( 11,410 7,700 7,700 1.9 11,910 5,250 5250 11,910! 12,890/ 11,910/ 14,930: 10,000/ 10,000
2.0 8,200 3,430 3,430 8,200 8,440 8,200 10,290 6,590 6,590 2.0 10,730 4,480 4,480 10,730: 11,030| 10,730 13,460 8,540 8,540
2.1 7,430 2,940 2,940 7,430 7,270 7,270 9,320 5,670 5,670 2.1 9,720 3,840 3,840 9,720 9,500 9,500( 12,190 7,340 7,340
2.2 6,760 2,540 2,540 6,760 6,310 6,310 8,480 4,910 4,910 2.2 8,840 3,320 3,320 8,840 8,240 8,240 11,090 6,360 6,360
2.3 6,170 2,210 2,210 6,170 5,500 5,500 7,750 4,280 4,280 2.3 8,070 2,880 2,880 8,070 7,190 7,190[ 10,130 5,530 5,530
2.4 5,660 1,930 1,930 5,660 4,830 4,830 7,100 3,760 3,760 2.4 7,400 2,520 2,520 7,400 6,310 6,310 9,290 4,840 4,840
25 5,200 1,690 1,690 5,200 4,260 4,260 6,540 3,310 3,310 2.5 6,810 2,210 2,210 6,810 5,560 5,560 8,550 4,250 4,250
2.6 4,800 1,490 1,490 4,800 3,770 3,770 6,030 2,930 2,930 2.6 6,280 1,940 1,940 6,280 4,920 4,920 7,890 3,760 3,760
2.7 4,440 1,310 1,310 4,440 3,350 3,350 5,580 2,600 2,600 2.7 5,810 1,720 1,720 5,810 4,380 4,380 7,310 3,330 3,330
2.8 4,120 1,160 1,160 4,120 2,990 2,990 5,180 2,320 2,320 2.8 5,390 1,520 1,520 5,390 3,910 3,910 6,780 2,960 2,960
2.9 3,830 1,030 1,030 3,830 2,680 2,680 4,820 2,070 2,070 2.9 5,010 1,350 1,350 5,010 3,500 3,500 6,310 2,640 2,640
3.0 3,570 2,410 2,410 4,500 1,860 1,860 3.0 4,670 1,200 1,200 4,670 3,150 3,150 5,880 2,360 2,360
3.1 3,340 2,170 2,170 4,200 1,670 1,670 3.1 4,370 1,080 1,080 4,370 2,830 2,830 5,500 2,120 2,120
3.2 3,120 1,960 1,960 3,940 1,510 1,510 3.2 4,090 2,560 2,560 5,150 1,900 1,900
3.3 2,930 1,780 1,780 3,690 1,360 1,360 33 3,830 2,320 2,320 4,830 1,710 1,710
3.4 2,750 1,610 1,610 3,470 1,230 1,230 3.4 3,600 2,110 2,110 4,540 1,550 1,550
35 2,590 1,470 1,470 3,270 1,120 1,120 35 3,390 1,920 1,920 4,280 1,400 1,400
3.6 2,440 1,340 1,340 3,080 1,020 1,020 3.6 3,190 1,750 1,750 4,030 1,270 1,270
3.7 2,300 1,220 1,220 3.7 3,010 1,600 1,600 3,810 1,150 1,150
3.8 2,180 1,120 1,120 3.8 2,850 1,460 1,460 3,600 1,040 1,040
3.9 2,060 1,020 1,020 3.9 2,690 1,340 1,340
4.0 4.0 2,550 1,230 1,230

W7y ¥ EEX T THROEE <ESHBE>

1) B 0 ANY

- IS hIRE 0=1/8- W-8%/sZ = F/15 Es: S¥ DYU7 R

c b HRE os=k-C-5/384- W- ¢*/(Es-sl) = £,/250 F: 7y47 - 234 (205 or 235N/mm?)

2) 2 EHF sZ: IEBHIT AW ERE

- ISHIRE 0=1/8- W:-£%*/nZ = F/15 nZ: & gh1T AE R

b RIRE ods=k-C-1/185- W- ¢*/(Es-sl) = £,250 sl B E2 R E—Ab

3) 3EmEHF k: ZERERFZHE1.5)

- IS hIRE 0=1/10- \W- ¢2/nZ = F/15 Cl=hHHERDFRK(=1.0)

- Feh HIRTE Sts=k-C-1/145- \W- ¢*/(Es-s) = £,250 W TR BEHEENE GrAE#BFE-W—TYy¥BE N/nm)



